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The figures in the margin indicate full marks
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Answer either in English or in Assamese

1. Answer the following questions as directed :

1x10=10
fRotrpTRl oot STyRe Ses o
{a) Why is shorter truth table method called
an indirect truth table? .
o T S omfeT 9 orars o o 3
Ry ? '
(b) What does the contradiction involved in a

shorter ttuth table imply about the
argument?

qmaﬁ%w%zmmﬁsw?
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{c)

(d)

(e)

_ (9)

)

8A/T24

(2)

State the logical form of the rule of
Hypothetical Syllogism (HS).
SR A (Hypothetical Syllogism) RS
> 1 GRS Tl ead T

Why is the procedure of formal proof of
validity called ‘formal proof?

(AR 4TART A TRREE 2R 4TS [
“RIEF LI A o PRI ?

The rule of modus tollens (MT) is a rule of
inference/rule of replacement.

( Choose the correct answer )

Modus tollens <4 fAFWO SFEFR 3[4/
SRS 4 |

(o TaTeh e Bferean )

What do you mean by the figures of
syllogism?

TRA kA e 7 3@ 2

Whét is the Latin name of thé rule modus
tollens? '

Modus tollens ¥4 U6 cafoa =1 & 7

State the logical name of one valid mood
of the second figure of a syllogism.

TR RO TEER @B ¢ RS oFw W
BeEg 40

( Continued )

(i

0

(3)

What does the shading put in a Venn
diagram imply?

& foqe wfts 3 WiwT T 9T wWA B
o ?

What is a quantifier?

AR FE QWA ?

2. Answer the following questions in brief :

T PR v e o

(@)

(b)

(c)

(d)

8A/724

What is a singular proposition? Give one
example.

9T o7 I (A0 2 61 Trraet

State two points of difference between
propositional logic and predicate logic.
PN SFREW 7 Reamae sfReme Twe
241 o1 N4 Beay 41 |

What is the meaning of the Latin
phrase ‘Teductio ad absurdum’™? Name
the decision procedure which is known
also as the method of fTeductio ad
absurdum’.

@A ‘reductio ad absurdum’ (TP
M) IRICR W RF?  Reductio ad
absurdum’ 31 SRS T &S iﬁe AR
Rt ~r=feehr = foran o

State the definition of formal proof of
validity as given by 1. M. Copi.

I. M. Copi-q fifl (I9oR WRFREF oNH
AL IR |

{ Turn Over )
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(4)

(e} Symbolize the following propositions
using quantifiers :

MM I|/PE IR o ﬁzn TEACFRON
SOTIT ol 2T 0
(i) No warriors are coward.
QA @ 7= OF |
(i) ‘Everything is enjoyable.
A TG TSN |

3. Give short answers for the following questions
(any foun : 5x4=20

oo e B b forat (R e i)

(a) Write a short note on predicate logic.

Rerras SEREH T qb1 53 R forat i

(p) Name any five rules of replacement with
appropriate symbolic expression.
TR AT TF TS S FEfSREFIT
WA

(c) What are the rules of quantification?
Name the logician who is credited for the
discovery of quantification.

Rerd a1 R & R AR
NREE Roe WS SERTE T B 1

8A/724 { Continued )

(S)

(d) Describe the structure of standard form
categorical syllogism.

WW’WWWWWl

fe)} Who invented Venn diagram? Represent
the four  traditional categorical
propositions through Venn diagram.

& o @ wiRkzm FREF?  AT=ommse
R3tors 359 BIIGT Con BT BT 2Py 310 1

4. Explain the strategies for the construction of
shorter truth table with a suitable example. 10

B! B THZIW WRT O HG-OIRRT 45 AT
[ 0

Or / wi&n
Prove the validity or invalidity of the following

arguments through shorter truth table
method : 5x2=10

o Te- il RfS] a1 ere fia IR Caver Al

HLILST T F

(a) If common people are intelligent, then
politicians are honest.

Common people are intelligent.
- Politicians are honest.

T} SPIYRT ATE W, (ST ISR
Ny |

SPTYRY e
. ARSI A |
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(6)

(b) If either Ram or Shyam goes to the
market, then Rita does not have to
give money.

Ram is not going to the market and Rita
has to give money.

~. Shyam is not going to the market.
fi T I 0 TEREA T, R N} R
a3 = | ‘

I ISR T A Ao 7w 7 AR

o O TR0 TR |

5. Describe the rules of inference with proper
symbolic expression. - 5+5=10
T AOFET NI ONS SN TR I
9 ‘

.Or / %
Construct formal proof of validity for the
following arguments : ' 10

QYO ATEARE A AFREE R T TS
TR (34 A 4

i 1.(A-B)o[A>(D-E)
2.(A-B)-C/~ DVE

i) 1. ASB

2.CoD
3.(~Bv~D)(~Av~B)/:.. ~Av~C

8A/724 ' ( Continued )

(7)

6. What is the standard form categorical

syllogism? Explain the Venn diagram
technique for testing standard form of
categorical syllogism. 2+8=10
RS RRrF T I QR ? FIem e
2341 3! FRE AA = B =S TR F0 |

or/ W

Prove the validity or invalidity of the following
syllogistic arguments with the help of Venn
diagram : 5+5=10
(o o vTEe were il AN SqAMEDNR (%S
SLIYS! ATT FA 2

(a) No poor man is happy.
Some honest persons are poor men.
~. Some honest pérsons are not happy.

CRICT TR TR 7= 3 |
fRrgaH iR TR W R/
-, RN e TRE = /M

(b) All great scientists are college graduates.
Some professional athletes are college
graduates.

-. Some professional athletes are great

scientists.
NFCE TIed (IWAE T WS |

- R R (LI | TS
. g IR (T W TS T |
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(8)

7. Explain how traditional AEIO propositions
are symbolized with the help of quantifiers.
8+2=10
ARAFT SIS *T=[© AEIO PR AOIRF
TS (ICICT AT TN =Y, W F0

Or/ A

Prove the validity of the following arguments

in predicate logic : 5+5=10
Ruarrs oFRerm m wpik e fon IR
34T o =90 ¢

(a) All philosophers are wise.
Aristotle is a philosopher.
- Aristotle is wise.

(b) All men are honest.
All scientists are men
~. All scientists are honest.

A R W AR
e CI|AT W TR
- P ([W|AE W R

* Xk &
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